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Error, (in LinearAlgebra:-MatrixMatrixMultiply) first matrix

column dimension (3) <> second matrix row dimension (4)
P :=Matrix([[1,2,3], [4,5,6], [7,8,9]]);
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A : i14atrix([[a[1, 1], a[1, 2]], [a[2, 1], a[2, 2]]]);
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B := Matrix( [ [b[ 1, 1], b[ 1,2]], [b[2, 1], b[2, 2]]]);
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/‘vtatrix( [ [c[ 1, 1], c[ 1, 2]], [c[2, 1], c[2, 2]]]);
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sirnplify( %);
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Q := Matrix([[5, 3], [3, 2]]);
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T:=Matrix([[1,2,3], [2,5,2], [6,—3, 1]]);
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5 Computer Lab Questions

Let’s go back to our matrix from lecture 5:

/1 2 3
(2 5 2

\ 6 —3 1

Use Maple to answer the following:

What is the inverse of the above matrix?
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What do we get when we left-multiply the above matrix by the column

vector f 0 1?
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What do we get when we left-multiply the inverse matrix by the col

umn vector ( )?
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